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Lier 1 Horizon 1 13-0 Horizon 2 |Lier 2 1-13
Horizon 2 |Lint 1 8-13 Kalmthout | Lier 1 1-13
Lier 2 Kalmthout | 13-2 Horizon 1 |Lint 1 13-5

UITSLAGEN REEKS B

Lier 3 Horizon 4 [13-10 Horizon 4 |[Lint 2 1-13
Horizon 3 |Lint 2 11-13 Edegem Lier 3 13-4
Edegem VRIJ Horizon 3 |VRIJ

KLASSEMENTEN

Reeks A Naam GM | PV | PT
1 Lier 1 10 | 130 | 31
2 Horizon 1 5 100 | 101
3 Horizon 2 5 92 | 104
4 Lier 2 4 88 | 97
5 Kalmthout 3 80 | 113
6 Lint 1 3 72 | 116

Reeks B Naam GM | PV PT
1 Edegem 10 |130| 62
2 Lint 2 7 [120| 82
3 Lier 3 7 |106| 85
4 Horizon 4 3 87 | 113
5 Horizon 3 3 76 | 117




